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ML9 Chapter 4 Problems of the Week Answers

BLM 4–4 Chapter 4 Problems of the Week

1. In order for the picture to fit completely into the larger size, the width factor, k1, must be the same as the length factor, k2. For the rectangles 9 cm × 13 cm and 24 mm × 36 mm:  
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The factors k1 and k2 are not equal; therefore, part of the picture will be cropped.

For the rectangles 10 cm × 15 cm and 
24 mm × 36 mm:


[image: image2.wmf]k

k

1

2

100251

===4

2466

150251

===4

3666


The factors are equal; therefore, no part of the picture will be cropped.
3. a) Example:

	Side Length of Cube

(cm)
	S.A. of Cube

(cm2)
	V of Cube

(cm3)
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b) As the size of a cube increases, the surface area (related to heat loss) increases less than volume (related to body size) does. Therefore, large animals lose heat less rapidly than small animals, relative to body size.

4. The diagram shows the inverse square law and its application to distance versus area for similar figures. Example: As the distance between a light source and an object doubles, the area of the similar figure is four times as great. This results in one quarter of the light reaching the object.
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